Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name: Operating Systems
Subject Code: 2TE030SC1 Branch: Diploma (CE)
Semester: 3 Date: 26/04/2022 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Which of the following are types of File Access Methods?
A) Sequential Access. B) Direct Access.
C) Random Access. D) All of Above.
Alaamigl 59 s19a w5 Al Usl 97?
w) [Asalena 2isu4. ofl) $11252 BsAA.
2l) 2egH visAA. $l) GUzAL oAl
b) Semaphores are used to solve the problem of
A) Race Condition. B) Process Synchronization.
C) Mutual Exclusion. D) None of Above.
AHI51AAL GuAlL <l UM G5AAl HI2 21 9.
) 2l Ralq. ofl) ulsal Rasdaa.
l) P29 5ol &y Gusdnidl 515 4dl.

c) Which of the following are types of Operating Systems?
A) Batch Operating Systems. B) Network Operating Systems.
C) Multi Threading Operating Systems D) All of Above.
cldamizl 59 2Aul2ol [zl Us1zl 972

¥l ) ol w20l (e, oil) dza luz(zal [Mzava,
2l) meZl adlo vuzl2ol [Rzev $l) Gzl ol

d) Which of the following is not an operating system?
A)Windows B)Linux
C)Oracle D)DOS
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g)

h)

AlAamigl 59 20420200 Rz2H 421?

) [Aedios ofl) [asa

2l )ulizsa e

FIFO scheduling is

A) Fair-share scheduling B) Deadline scheduling
C) Non-preemptive scheduling D) Preemptive scheduling

FIFO 2iga(da €

2 ) 5292 agafqal ofl ) el agafqal

Ay Ala-vilnliza 9ga(qo ) vilnlza agy(aol
Bringing a page into memory only when it is needed is known as

A) Deadlock B) Page Fault

C) Demand Paging D) Swapping

5412 6632 1A AL 6 UB HHIHL dlad i d<ls o €.
) 3edls ofl ) Usy slez

Al ) [3¥1es uol $l) zafia

Which one of the following are not types of Scheduling Algorithm?
A) FCFS. B) SJF.

C) SRTN. D) Ostrich Algorithm
flalamigl sl 282@0 vicllaudl sz 421?

1) viglotzaia. ofl) 2143,

2dl) m22ld 8l) 2l melun
What is full form of PCB?

A) Process Control Block. B) Process Control Board.
C) Process Communication Block. D) All of Above.

PCB < uil 2434 9 £97?

2i) WA 5214 odls, ofl) AU, 5214 613,

2dl) WA bR odls, &l) GuzAL %Al

Which of the following is not a process state?

A) Ready B) Running

B) New D) Request

cllamial 59 ulsa Rala +21?

2 )2l 6l ) 2{lor

) 4 §l) Alsaz2

Page 2 of 6



)

k)

m) Out of these page replacement algorithms, which one suffers from

Which among the following is not function of Operating System?
A) Memory Management B) Disk Management
C) Application Management D) Virus Protection
AlRmizl 2 viiuzlzal Rz 51 9l ?

»1) U HeAsrHe2 oil) (325 HedsyHez

2l) viltasuq Hdsyuz MV EIREERNEE R

The address of the next instruction to be executed is given by
the__

A) main memory B) Program counter
C) Process stack D) none

2HAHL H5AAL 2A0UH] BAAL HA,

2, ) Yoy Hul ofl ) WAH 51622

Al ) WA 225 ) 519 Al

Which of the following scheduling algorithm uses time slice?
A) SRTN B) FCFS

C) Round Robin D) SJF

cflalaimigl 54 954(Q00 AURAR 2154 25U, AU 97

) SRTN 5{l) FCFS

Al) 216w 21614 §l) SJF

Belady’s anomaly?

A) LRU B) FIFO

C) Both LRU and FIFO D) Optimal Page
Replacement

2 Usy [duHez sicllfarunizl, oldidldl [Aioiddil 2 dllza 972

» ) LRU oil ) FIFO

4l) LRU 214 FIFO 6iq $l) Optimal Page Replacement
Which of these disk scheduling policies results in minimum head
movement?

A)Circular scan B) Elevator

C) FCS D) None of the above
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2UHIAL 59 (325 2024(A00 dl[dotl AeldH G HaH2Hi uREH 97
2 ) Ui w5 ol ) wiladzz
dl)FCs &l) Gulsdnial 515 Al

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

b)

Attempt all questions

Explain Paging memory management technique.

UloyoL HuZl HeloyHez 25[as uHMAl.

What is mutual exclusion? Explain mutual exclusion with help of
monitors.

Mutual exclusion g £9? (=22 Heeell mutual exclusion “H™Al.
Explain Long term, Medium term and short term schedulers.

oA ALOULAL, HEAH, IALOULAL Bl 251 OUUAL AR UHAAL

Attempt all questions
Describe and explain various states of process with diagram.
2U5(d A1 process L [A[44 states o Al 521 2id AHMAL

Write a shell script to find addition of three numbers.

AL HUA AL GHRL 2IHAL HIZ 2449 512 gl

What is Memory Management Unit? Explain functionalities of
memory management unit.

HHZL HedorHez 42 9 6972 HuZ HelorHez A2l sPAamdlL dHmal.

Attempt all questions

Explain Inter process communication (IPC) and issues related to
IPC.

ez WA, 5452 (IPC) vtel IPC oiAd Yz loil uHmAl.

Explain Round Robin Process scheduling algorithm with suitable

example.

4192, Gl A1, 2GS 2ot WA 2g4[A0 AURAH AHMAL.
What are file attributes? Explain various file attributes.
5194 attributes 9 97 [A[44 5194 attributes UHMAl.
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Q-5

Q-6

b)

Attempt all questions

Describe conditions for deadlock.

3eals Hizell 22did ABle 53,

Write a shell script to find maximum number from given three
integer numbers.

AU, A0 YL AoA12AHIL HedH dual QiHal Wiz 9 Rse qul,
Explain different file access methods.

(Alaa s15a sisau ughlazil a4mal.

Attempt all questions
Calculate average waiting time and average turnaround time for

FCFS algorithm with gantt chart for following data

Process | Arrival Time | Time required for completion
PO 6

P1 1 4
P2 3 2
P3 5 1

<l2dl 321 HI2 Oz ULz AU FCFS viell24u HIZ 12219 waiting time i
U219 2422188 UHA<L ARd<l 5320

o

Process | Arrival Time | Time required for completion
PO 0 6

P1 1 4
P2 3 2
P3 5 1

Write a short note on file types.

5196 Us1RL U 251 <iA Quil.

Explain following UNIX command: (1) man (2) who (3) Is
{1241 UNIX command A4dl: (1) man (2) who (3) Is

Attempt all questions
Consider the order of request is- 82,170,43,140,24,16,190
And current position of Read/Write head is 50 Find the total seek

@)

time.
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b)

[Aeddldl sH =a14ui dl- (82,170,43,140,24,16,190)u14 <l8/2152 el
Al Ruld 50 &9 Al sa 2ls 2154 2kl

Differentiate multi programming and multi processing OS.

HeZl WAL 2 HeZ] A0 UL dsldd QUi

Explain preemptive and non-preemptive scheduling with example.

Preemptive and non-preemptive scheduling GelszRl A1 AHMAL

Attempt all questions
Explain fixed size partitioning in memory management.
HHZ HedorHzHi fixed size UIZl2Ad AHMAL

Write a short note on operating system services.
242[201 [A22H A1l uz 251 <iE dvil

Explain virtual memory.

929244 HHZL YHMAl.

05

04

05

05

04

Page 6 of 6



